g oS AAZG oA Lx o] 2715 Faola
A
60°

\VARR 4
0x
i

D60 °

£x = (180° - 60°) + 2 = 60°




2. o= 2T EL2 ol sHAAFANA x & 277
A

70°

@ 40° @ 45° ® 50° @55° ® 60°

Lx = (180° - 70°) = 2 = 55°




® BC = AD
@ AD =AC
® /B = /BAD

@zADB =90°
©® aABDE °lsHHZF oI,

ofh

AABD = AADC (SAS &%)




@® 14 @ 15 ® 16 @)18 ® 19

Q12 0] AABC o] 4]

/ABC = /ACBO|E & AABCE o|5 WAz ot}

Sox=38

T, Q220 AABC oA

/BCA = 180° - (30° + 75°) = 75°°]| 2 & AABC = o] 5 HA}
Zhggoltt,

x=10

s(x9] dolo h=8+10=18

ofll




ohe 1w Zo] AB = AC 9l ©]%5
A7 ¥ AC 9ko] TFL D 2 & u, ABD
sfo .

N

/B =72° |22 /ABD = 36° ©|t}.

ebA] & UjZke] 37171 Ze B2 AABD + ol sz ol
(BDC =72°, /BCD = 72° 0|22 T Wjz}o] 37|17} Zong
ABDC & ol sz gt




o}, /BAC =70°

@ ‘ABC @):acB ® (EAC

Zo]l5 HJoervg /BAC = /DAC = 70° ©|t}. /DAC =
(ACB (91Z}) o]t}
w2t /BAC = /ACB ©]t}.




o 2™ 2ol AB = AC Q o] 5HAZE ABC oA /A = 134°
o o, 2x o] 27]E Fstof=t

A
Z 134° C
B
» E: °
> ®gh: 157°

B ~

AABC & o580l n g

1
£ABC = _(180° - 134°) = 23°
o Lx =180° — 23° = 157°




8. & 133} Zo] AABCE AB = ACo|1L A
(A = 90° %1 A Z}o] AT ZI ot} o],

X, y_g] 1711'—% :Ilﬁ]-oq E]’ 7|cm

C
D~ycm-~

AABCE | Zbo| FHAZIPO|BR 1x = 45°0|B& x =45
AADB = AADC (RHS &5 ) 0| 22
BD = CD = yo|t}.
AADB, ACDA7} A Zol5HAZtgolng
=




9.

o7t 22 AABCOA AB = AC = 8cm & ],

/xQ 3717

@40° @ 45° ® 50°

@ 55°

® 60°

AABC = o] 5HAZA ol nR
(ACB = T70°
kA x = 180° -2 x 70° = 40°




A

@ 20° @ 30° @40° @ 50°

® 60°

B

ABCD ©f|A BC = BD ©|E& o|5HAiZ%
(BDC = /BCD = 70°

AABC = AB = AC ¢l o547 golE 2
(ABC = /ACB = 70°

w2bA zx + /ABC 4 £/ACB = 180° 0|22
£x + 70° 4 70° = 180°

/x + 140° = 180°

coZx = 40°

ol

ofl




11. oS a4 aABC &= AB = AC ¢l o|5¥AZ o
BD =BC ¢ o, zx 9] 27]&?
A
36>
B C
B 44° @ 46°

@36° @ 40°

®

30°

[7}go| B2 /A = /ABD = 36°

AABD £ o]5H47Z
/BDC = 36° 4 36° = 72°

ABDC E‘ O] L= eyl
. Zx = 180° — 72° — 72° = 36°

HAZI ol B2 /BDC = /BCD = 72°




12. o2 139 AABC ¢ AEFC o4 AB = AC,EF = EG € W], zx+2y
ol 27=7?

A

@® 104° @ 105° ® 106° @ 107° @108°

~&B ~

ABCD + o| R o|BnE
/CBD = 180°-2x72° = 36°
AABC £ o] 3HAZgolBER
(ABC = /ACB = 72°

L [x=T2°-36°=36°

AEFG £ o|s8dZgolng
(FGE = 36°, /FEG = 108°

T AEFH & o|sHAZ Yol B2
(EFH = /FEH = 36°

S ly=108°-36°=T72°

Wt A zx 4 Ly = 36° + 72° = 108°

ofl

ol




ol

|

1

o] HAo. aABC

K
< my
Q o
q B
A
g =
D"J\/\.,_ A o
| ! o o
L b
| (o) O
" o o 8
<J M J
N nH
Il a|
M o
e M
o A O

N N
= g WS
G ul I
= 49

o]

S OIS
il Ul min W £3
&0 o W
o N H




14. th 283 Zo] aABC 7h Fol e 1, x, vl g2

@x:6,y:50° @x:7,y=45°
@xz?,y:50° @ x=7 y=65°

® x=8,y=50°

/ACB = 65° |22 AABC = o| 5847 olt}.
Lx=17
123y =180°-65°x 2 =50°

oflh




15. o5 ™A x o ZolE Fsholet,

(ACB = 70° | B2 AABC £ o] Szt o},

s x=4(cm)

ofll




16. th3 273 o] FHol YA Fol Ho|ZE Utk FGE = 40°

A, 1xo] 7|2

A F______ D
? X \’
B ¢

O 30° @ 40° ® 50° @ 60° ®)70°

Zo] go]=& A oW /DFE = /GFE = /x°]1l

(DFE = /GEF = /x (37})
(GFE = /GEF = /x

180°—40°
= - :700

VA
* 2




17. o= -3} go] Fo] dA3t Fol Ho| g e

©s @2 o @

® 32°

G
Zo| gHo|ZE HOoW /CBG = /BCA o]
L/CBG = /BCA = /x (37)
- /ABC = /x
(/DAC = /ABG = 58° (592}
58°

=29°
2

CoLX




18. o2 194 AB = BC = CD o]
(CDE = 120° € o, /CAB 9] 37|& +
stofat,

L
o

vV V¥

e 30°

120°

DE

/CBD = /CDB = 60°,
/ABC = 180° - 60° = 120°
. LCAB = (180° - 120°) + 2 =30°




19.

(M)AD = BC
® /ADB =90°
® /B =.C

@ (ADB = /ADC
@ AADB = AADC

@ AD1BC




o5 HE Pet 5t

PBCL o] sz goltt i &
ot
A
B& *=C

AB=AColB&
(ABC=| (7}
(PBC =| () [,ABC, .PCB=[ (1} /ACB
()

';,APBCA = yzte] 2717k genz [ (@) |olnt
e L ol Smaztgolt,

O) ~@poll B0l Ao 22 ge ALY

@ (h /ACB @2

® ) /PBC = /PCB @ @) PB=PC
® @) aAPBC

B

AB=ACo|lEZ
/ABC = (£ACB)

(PBC = (%)AABC ,

/PCB = (%)AACB
- (¢PBC = /PCB)

m2hA] (APBC )& ol 5 HAZ ot

Z APBC 9 = Uzte] 277t o v g (PB =PC )o|th




